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SAP ABAP table V_EINE MKAL {Generated Table for View}

MAKV

MANDT [CLNT (3)]

MATNR [CHAR (18)]

WERKS [CHAR (4)]

CSPLIT [CHAR (4)]

MARA

MANDT [CLNT (3)]

MATNR [CHAR (18)]

TOO0O

MANDT [CLNT (3)]

TOO1lL

MANDT [CLNT (3)]

WERKS [CHAR (4)]

LGORT [CHAR (4)]

TOO1lW

MANDT [CLNT (3)]

WERKS [CHAR (4)]

T416

MANDT [CLNT (3)]

STLAN [CHAR (1)]

T437P

MANDT [CLNT (3)]

WERKS [CHAR (4)]

PLAN_ID [CHAR (8)]

T437V

MANDT [CLNT (3)]

WERKS [CHAR (4)]

VERTL [CHAR (4)]

T460A

MANDT [CLNT (3)]

WERKS [CHAR (4)]

SOBSL [CHAR (2)]

TCAO1
MANDT [CLNT (3)]
PLNTY [CHAR (1)]




